The Alliance Française Bordeaux Nouvelle-Aquitaine offers a wide range of French courses and workshops in Bordeaux, both in person and online, for all levels.

As an examination centre, our institution allows you to take official diplomas and tests (DELF/DALF, TCF, TEF, etc.) to validate your language skills.

#### Terms of enrolment



- Registration fees: 60€
- Registration **online on our website**, **by email ou on site** at the latest one week before the start of the course (subject to availability).
- Any registration implies the acceptance of our general terms and conditions of sale.

### GENERAL FRENCH COURSES

Learn French in everyday and professional situations, both spoken and written.

#### Intensive general French courses - 20h per week - All levels

Monday to Friday

- On site
- From 9:00 AM to 1:00 PM (15 min break)
- Plan to purchase teaching material (35-40€)
- Courses start every Monday (except beginners: 27/10, 24/11, 05/01, 02/03, 27/04, 01/06, 29/06, 27/07, 28/09)

Number of weeks	Number of hours	Price / week*	TOTAL
1	20h	240 € / week	240 €
2	40h	220 € / week	440 €
3	60h	210 € / week	630 €
4	80h	190 € / week	760 €
5	100h	180 € / week	900 €
6	120 h	180 € / week	1 080 €
7	140 h	180 € / week	1 260 €
8	160h	176 € / week	1 408 €
SPECIAL LONG STAYS:			
12	240h	170 € / week	2 040 €
16	320 h	166 € / week	2 656 €
24	480 h	164 € / week	3 936 €
36	720 h	160 € / week	5 760 €
48	960 h	154 € / week	7 392 €







## **ONLINE GENERAL FRENCH COURSES**

Learn French in everyday and professional situations, both spoken and written.

NEW!

#### **Afternoon French classes - 8 hours per week - All levels**

- Monday, Tuesday, Thursday, and Friday
- Online

From 1:30 PM to 3:30 PM

- Plan to purchase teaching material (35-40€)
- Enrolment for the session (4 weeks), possibility to enrol during the session for a minimum of 2 weeks

Number of weeks	Number of hours	Price / week*	TOTAL
2	16h	96 € / week	192 €
3	24h	96 € / week	288 €
4	32h	88 € / week	352 €
8	64h	80 € / week	640 €
12	96h	76 € / week	912 €

# **Evening French classes - 4 hours per week - All levels**

Tuesday and Thursday

Online

From 6:30 to 8:30 PM

- Plan to purchase teaching material (35-40€)
- Registration for the session (possibility to register during the session if places are available)

Number of weeks	Number of hours	Price / week*	TOTAL
2	8h	52 € / week	104 €
3	12h	52 € / week	156 €
4	16h	48 € / week	192 €
8	32h	44 € / week	352 €
12	48h	40 € / week	480 €
24	96h	38 € / week	912 €



\* A discount of €6.50/hour (for a 4-week or longer enrolment) is available for students on Erasmus or Au Pair programmes in Bordeaux.











# **THEMATIC WORKSHOPS**

Deepen specific knowledge in French.

• 🛆 Workshop opens from **7 students minimum** 

### **Conversation workshop**



- Monday from 2:30 to 4:30 PM
- 2h per week
- From A2 level

Nb of weeks	Nb of hours	Price / week	TOTAL
1	2h	24 € / week	24€
2	4h	22 € / week	44 €
3	6h	21 € / week	63 €
4	8h	19 € / week	76 €
5	10h	18 € / week	90 €
8	16h	17,60 € / week	140,80 €
12	24h	17 € / week	204 €

NEW!

## **Written French** workshop



- **Tuesday and Thursday** from 2:30 to 4:30 PM
- 4h per week
- From A1.2 level

Nb of weeks	Nb of hours	Price / week	TOTAL
1	4h	48 € / week	24 €
2	8h	44 € / week	88 €
3	12h	42 € / week	126 €
4	16h	38 € / week	152 €
5	20h	36 € / week	180 €
8	32h	35,20 € / week	281,60 €
12	48h	34 € / week	408 €



#### SUPER-INTENSIVE PACKAGE

Get 26 hours of classes per week, combining intensive classes (20 hours/week) + conversation workshop (2 hours/week) + written French workshop (4 hours/week)

Number of weeks	Number of hours	Package price / week (26h)	TOTAL SUPER- INTENSIVE PACKAGE	Discount
2	52h	274 € / week	548 €	(instead of 572€)
3	78h	261 € / week	783 €	(instead of 819 €)
4	104h	247 € / week	808€	(instead of 912 €)
5	130h	225 € / week	1125 €	(instead of 1170 €)
12	312h	212 € / week	2544€	(instead of 2652 €)









## THEMATIC WORKSHOPS

Deepen specific knowledge in French.

A Workshop opens from 7 students minimum

## **Phonetics** Workshop



- Friday from 2:30 to 4:00 PM
- 1h30 per week
- All levels

Nb of weeks	Nb of hours	Price / week	TOTAL
1	1h30	18 € / week	18 €
2	3h	16,50 € / week	33 €
3	4h30	15,75 € / week	47,25 €
4	6h	14,25 € / week	57 €
5	7h30	13,50 € / week	67,50 €
8	12h	13,20 € / week	105,60 €
12	18h	12,75 € / week	153 €

# INDIVIDUAL COURSES

Customise your French learning experience.

To respond to a specific request, whether private or professional. Contact us to set your goals!



- On site and online
- Prepare for an exam (DELF, DALF, university exam, etc.)
- French for specific purposes. For example:
  - > Preparing for a diplomatic competition or examination
  - > Preparing for admission to a French university
  - > Communicate more effectively in a professional environment
- Improve a specific skill (reading, writing, comprehension, speaking)

1 person	80 € / hour	/
2 persons	100 € / hour	50 € / pers. / hour
3 persons	108 € / hour	36 € / pers. / hour
4 persons	130 € / hour	32,50 € / pers. / hour





## **EXAMS**

Officially certify your level of French.

#### **DELF/DALF**

A1, A2 levels: 100€ B1, B2 levels: 160 € C1. C2 levels: 200 €

December	2-9/11/2025
February	3-10/02/2026
May	19-26/05/2026
July	7-13/07/2026
October	6-13/10/2026

# **TCF Integration**, **Residence and Nationality**

From A1 to B2 level: 160 €

November	Le 3/11 ou 4/11
March	Le 2/03 ou 3/03
April	Le 27/04 ou 28/04
June	Le 15/06 ou 16/06
September	Le 14/09 ou 15/09

#### **TCF All Public**

From 150€ to 270€

10/11/25	23/02/26
20/04/26	07/09/26

#### e-TEF Canada

From 120€ to 220€

13/11/25	26/03/26
25/06/26	03/09/26

#### **EXAMS PREPARATION COURSES**

Acquire the methodology to pass your exam.

# **DELF / DALF Preparation course** 10h/15h packages



- Online
- DELF price: 100€ + 60€ registration fee DALF price: 150€ + 60€ registration fee
- Monday and Wednesday from 6:00 to 8:30 PM

Dec.	DALF	10/11, 12/11, 17/11, 19/11, 24/11, 26/11
	DELF	17/11, 19/11, 24/11, 26/11
Feb.	DALF	12/01, 14/01, 19/01, 21/01, 26/01, 28/01
	DELF	19/01, 21/01, 26/01, 28/01
May	DALF	27/04, 29/04, 4/05, 6/05, 11/05, 13/05
	DELF	4/05, 6/05, 11/05, 13/05
Jul.	DALF	15/06, 17/06, 22/06, 24/06, 29/06, 1/07
	DELF	22/06, 24/06, 29/06, 1/07
Oct.	DALF	14/09, 16/09, 21/09, 23/09, 28/09, 30/09
	DELF	21/09, 23/09, 28/09, 30/09

## **TCF IRN Workshop** 2h package



- On site at the AF Bordeaux
- Price: 20€
- The Monday before the examination from 6:00 to 8:00 PM

TCF IRN of November	Mon. 27 October
TCF IRN of March	Mon. 23 February
TCF IRN of April	Mon. 20 April
TCF IRN of June	Mon. 8 June
TCF IRN of September	Mon. 7 September







# TRAINING FOR TEACHERS OF FRENCH AS A FOREIGN LANGUAGE

Optimising teaching practices.

## **Training for teachers of French as a Foreign Language**

1 or 2-weeks programmes

- Training of 21h or 43h
- Prices: 440€ (21h) or 600€ (45h) + 60€ registration fee and access to our digital platform
- European teachers can benefit from an ERASMUS+ grant

Code OID: E10060543





November 2025	From 25 to 29 Nov.	
April 2026	ТВС	
Summer 2026	From 20 to 31 July	
October 2026	TBC	

#### 1-week package modules:

- The Teaching Unit (3h)
- ICTE (2h)
- Methodology of comprehension (3h30)
- How to create CE and CO exercises using authentic documents (3h)
- From conceptualisation to production (3h)
- Oral French (3h)
- Class observations and feedback (4h30)

#### Additional modules for the 2-weeks package:

- **Discover Bordeaux** (3h30)
- France today (3h30)
- Techniques for teaching spoken French (3h30)
- ICTE (2h)
- Remediation: focus on writing (3h30)
- Class observations and feedback (5h)

# CLASS OBSERVATION FOR TEACHERS OF FRENCH AS A FOREIGN LANGUAGE —

Observe and interact with a French as a foreign language professional.

Observation placement for early-career teachers, students, professionals undergoing retraining, etc.

- 4h30
- From 9:00 AM to 1:30 PM
- Prices: 90€75€ per additionnal class observed

126 rue Abbé de l'Epée, 33000 BORDEAUX

#### **Programme:**

- Interview and preparation for observation
- Immersion and structured observation of a class
- Review of the observed class and discussion with the trainer

Please contact us to arrange one or more observation dates.











## **ACCOMMODATION**

Living immersed in Bordeaux.

- This service is reserved for students enrolled in intensive courses.
- Placement fee: 50 €

#### — HOST FAMILY —

#### **Half board**

Discover the lifestyle of the family you are staying with by sharing your daily life and convivial moments with them (breakfast and dinner, weekends, outings, evenings, etc.).

#### **Room only**

You will be staying independently with a local resident who will provide you with a room and free access to the bathroom and kitchen for breakfast and dinner.

Room only	24 € per night
Half board (petits-déjeuners et dîners fournis)	35 € per night
Optional (from 4 weeks stays) : Free access to the kitchen for lunch	12.50 € per week

Arrival: the Sunday before classes begin / Departure: the Saturday after classes end

#### — HOTEL RESIDENCES —

Hotel residences offer rooms, studios, one-bedroom flats and two-bedroom flats (for 1 to 4 people) that can be equipped with a bathroom and kitchenette, as well as optional paid services such as breakfast, laundry facilities, etc.

Visit our website to see the different options and prices

# — RÉSIDENCE ÉTUDIANTE —

NEW!

Student residences (or co-living spaces) offer welcoming living environments where everyone has their own personal space (fully furnished studio to two-bedroom flats) as well as shared spaces offering a range of unique services (co-working space, fitness room, etc.).

Visit our website to see the different options and prices

# **CULTURAL ACTIVITIES**

Discover and enjoy French and Bordeaux culture.

Every week, AF offers a cultural programme to all its students in Bordeaux: heritage, culture, gastronomy, wine tasting, sports, leisure activities and excursions. Enjoy all our activities while meeting people from all over the world!

Visit our website and social media pages to view the various programmes available







